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TIP110A PNP Epitaxial Silicon Transistor

MEDIUM POWER LINEAR SWITCHING APPLICATIONS

o  Collector current 10A

o Collector dissipation Pc =75W (Te =25 <)

[&SOLUTE MAXIMUM RATINGS (Ta = 25 <€) '

Characteristic Symbol | Rating Unit

Collector-Base Voltage Veso -20 \'%

Collector-Emitter Voltage Vero -12 v

Emitter-Base Voltage Veso -7 v

Collector Current Ic -10 A

Collector Dissipation Pc 75 w

Junction Temperature Tj 150 c

Storage Temperature Tstg -55~150 < 1. Base 2. Collector 3. Emitter

[ELECTRICAL CHARACTERISTICS (Ta = 25<) J

. Characteristic Symbol Test Condition Min Max | Unit

Collector-Base Breakdowh Voltage BVero Ie=-lmA, =0 -20 v

Collector-EmitterBreakdown Voltage BVero Ic =-10mA, Iz =0 -12 Y

Emitter-Base Breakdown Voltage BVepo I=-1mA Ic=0 -7 A"

Collector Cutoff Current Icso Vep= -15V,15=0 -100 w A

Emitter Cutoff Current Ieno Veg= -3V,Ic=0 -100 wA

DC Current Gain hrgy Ver= -3V, I=6A 110

hres V= -3V,Ic=-10A 90
Collector-Emitter Saturation Voltage Veesan 1= -6A,Ip= -600mA -0.5 A%
Base-Emitter Saturation Voltage Vpesan Ie= 6A, V= -4V -1.5 v
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TIP110A PNP Epitaxial Silicon Transistor
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